

**Instructions:** Show all work. Give exact answers (yes, that means fractions, square roots and exponentials, and not decimals) unless specifically directed to give a decimal answer. This will require some operations to be done by hand even if not specifically directed to. Be sure to complete all parts of each question.

1. Solve the Bernoulli equation  $y' + 3x^2y = x^2y^3$ .

$$(n-1)y^{-n} = 2y^{-3}$$

$$2y^{-3}y' + 6x^2y^{-2} = 2x^2$$

$$-2y^{-3}y' + 6x^2y^{-2} = -2x^2$$

$$z' - 6x^2z = -2x^2$$

$$y^{-2} = z$$

$$\frac{dz}{dx} = -2y^{-3}y' = z'$$

$$\mu = e^{\int -6x^2 dx} = e^{-2x^3}$$

$$e^{-2x^3}z' - 6x^2e^{-2x^3}z = -2x^2e^{-2x^3}$$

$$\int (e^{-2x^3}z)' = \int -2x^2e^{-2x^3}$$

$$u = -2x^3$$

$$du = -6x^2 dx$$

$$\frac{1}{3}du = -2x^2 dx$$

$$e^{+2x^3} (e^{-2x^3}z = \frac{1}{3}e^{-2x^3} + C)$$

$$z = \frac{1}{3} + Ce^{2x^3}$$

$$\Rightarrow y^2 = \frac{1}{3} + Ce^{2x^3} \Rightarrow y^2 = \frac{1}{\frac{1}{3} + Ce^{2x^3}}$$

2. Solve the Bernoulli equation  $\frac{dy}{dx} + 2xy = xy^2$ .

$$y^2 = \frac{3}{1 + Ce^{2x^3}}$$

$$(1-n)y^{-n} = -y^{-2}$$

$$-y^{-2}y' + 2xy^{-1} = -x$$

$$y^{-1} = z$$

$$\frac{dz}{dx} = -y^{-2}y'$$

$$z' - 2xz = -x$$

$$\mu = e^{\int -2x dx} = e^{-x^2}$$

$$e^{-x^2}z' - xe^{-x^2}z = -xe^{-x^2}$$

$$\int (e^{-x^2}z)' = \int -xe^{-x^2}$$

$$e^{-x^2}z = \int \frac{1}{2}e^u du$$

$$u = -x^2$$

$$du = -2x$$

$$-\frac{1}{2}du = x dx$$

$$e^{x^2} (e^{-x^2}z = \frac{1}{2}e^{-x^2} + C)$$

$$z = \frac{1}{2} + Ce^{x^2}$$